
PENTURE CAOUTCHOUC 
70-3001

131-0335BOULON / BOLT 5/8-11 X 9''8
221-1052PLAQUE  PENTURE CAOUTCHOUC7
132-0016ECROU NYLON / LOCK NUT 5/8-116
132-0023ECROU HEXAGON / HEXAGON NUT 5/8"-115
233-0005 RONDELLE PLATE / FLAT WASHER 5/8 x 1-1/24
421-3067CAOUTCHOUC / RUBBER 3'' x 5''3
2 EXTRUSION / PROFILE MS 189282
2 CHASSIS QUAI FLOTTANT / FLOATING DOCK FRAME1

QtéNo. DessinsDESCRIPTIONItem

8473

1

23
3

2
1

374

5
6

LONGUEUR DU BOULON PEUT VARIER EN FONCTION DU CHASSIS DE QUAI UTILISÉ
BOLT LENGHT MAY VARY DEPENDING ON THE DOCK FRAME USED

RUBBER HINGE


